

REMARKS ON RECURRENCE FORMULAS FOR THE APOSTOL-TYPE NUMBERS AND POLYNOMIALS

IREM KUCUKOGLU AND YILMAZ SIMSEK

ABSTRACT. In this paper, by differentiating the generating functions for one of the family of the Apostol-type numbers and polynomials with respect to their parameters, we present some partial differential equations including these functions. By making use of these equations, we provide some new formulas, relations and identities including these numbers and polynomials and their derivatives. Furthermore, by using a collection of the generating functions for the aforementioned family and their functional equations, we investigate the numbers and polynomials belonging to this family and their relationships with other well-known special numbers and polynomials including the Apostol-Bernoulli numbers and polynomials of higher order, the Apostol-Euler numbers and polynomials of higher order, the Frobenius-Euler numbers and polynomials of higher order, the λ -array polynomials, the λ -Stirling numbers, and the λ -Bernoulli numbers and polynomials.

2010 MATHEMATICS SUBJECT CLASSIFICATION. 05A15, 11B68, 11B73, 11B83, 35A99.

KEYWORDS AND PHRASES. Generating functions, Functional equations, Partial differential equations, Apostol-type numbers and polynomials, Frobenius-Euler numbers and polynomials, the λ -array polynomials, the λ -Stirling numbers.

1. INTRODUCTION AND PRELIMINARIES

In recent years, studying on generalization and unification of the well-known special numbers and polynomials has gained importance by virtue of abundance of their potential applications and their connections with very kind of areas such as mathematics, quantum theory, physics and so on (*cf.* [1]-[27]).

Hence, in this paper, our motivation is to study on the numbers $W_n^{(k)}(\lambda)$ and the polynomials $W_n^{(k)}(x; \lambda)$, which are one of the families of Apostol-type numbers and polynomials of higher order defined by the second author [22] in the manner of the following generating functions:

$$(1) \quad F_w(t; \lambda; k) = \frac{1}{(\lambda e^t + \lambda^{-1} e^{-t} + 2)^k} = \sum_{n=0}^{\infty} W_n^{(k)}(\lambda) \frac{t^n}{n!}$$

and

$$(2) \quad G_w(t, x, k; \lambda) = e^{xt} F_w(t; \lambda; k) = \sum_{n=0}^{\infty} W_n^{(k)}(x; \lambda) \frac{t^n}{n!}.$$

The present investigation was supported by the Scientific Research Project Administration of Akdeniz University (with Project Number: FBA-2018-3292).

where $k \in \mathbb{N}_0$ and $\lambda \in \mathbb{C}$, in which $\mathbb{N}_0 := \mathbb{N} \cup \{0\}$ and \mathbb{C} denote the set of non-negative integers and the complex numbers, respectively, $\mathbb{N} := \{1, 2, 3, \dots\}$ being the set of positive integers.

The following relationship:

$$(3) \quad W_n^{(k)}(x; \lambda) = \sum_{m=0}^n \binom{n}{m} x^{n-m} W_m^{(k)}(\lambda)$$

holds true between the numbers $W_n^{(k)}(\lambda)$ and the polynomials $W_n^{(k)}(x; \lambda)$, so that, obviously,

$$(4) \quad W_n^{(k)}(\lambda) = W_n^{(k)}(0; \lambda),$$

with

$$W_n(\lambda) = W_n^{(1)}(\lambda) \quad \text{and} \quad W_n(x; \lambda) = W_n^{(1)}(x; \lambda).$$

(cf. [22]).

Moreover, for $n \in \mathbb{N}$, the numbers $W_n(\lambda)$ satisfy the following recurrence relation (cf. [11], [22]):

$$(5) \quad W_n(\lambda) = \frac{\lambda}{(\lambda+1)^2} \sum_{m=0}^{n-1} \left((-1)^{n-m+1} \lambda^{-1} - \lambda \right) \binom{n}{m} W_m(\lambda).$$

Thus, clearly several values of the numbers $W_n(\lambda)$ are given by (cf. [22])

$$\begin{aligned} W_1(\lambda) &= -\frac{\lambda(\lambda-1)}{(\lambda+1)^3}, \\ W_2(\lambda) &= \frac{\lambda(\lambda^2-4\lambda+1)}{(\lambda+1)^4}, \\ W_3(\lambda) &= -\frac{\lambda(\lambda^3-11\lambda^2+11\lambda-1)}{(\lambda+1)^5}, \end{aligned}$$

and so on.

On the other hand, the numbers $W_n^{(k)}(\lambda)$ satisfy the following computation formula (cf. [11], [23]):

$$(6) \quad W_n^{(k)}(\lambda) = \sum_{m=0}^n \binom{n}{m} W_m^{(k-1)}(\lambda) W_{n-m}(\lambda)$$

so that, by (6), a few values of the numbers $W_n^{(k)}(\lambda)$ are given as follows:

$$\begin{aligned} W_0^{(2)}(\lambda) &= \frac{\lambda^2}{(\lambda+1)^4}, W_1^{(2)}(\lambda) = \frac{2\lambda^2(1-\lambda)}{(\lambda+1)^5}, W_2^{(2)}(\lambda) = \frac{4\lambda^2(\lambda^2-3\lambda+1)}{(\lambda+1)^6}, \\ W_0^{(3)}(\lambda) &= \frac{\lambda^3}{(\lambda+1)^6}, W_1^{(3)}(\lambda) = \frac{3\lambda^3(1-\lambda)}{(\lambda+1)^7}, W_2^{(3)}(\lambda) = \frac{3\lambda^3(3\lambda^2-8\lambda+3)}{(\lambda+1)^8}, \end{aligned}$$

and so on.

Remark 1. The reader may consult the works [10], [11], [22] and [23] for further properties, relations and identities including the numbers $W_n(\lambda)$, the numbers $W_n^{(k)}(\lambda)$, the polynomials $W_n(x; \lambda)$ and the polynomials $W_n^{(k)}(x; \lambda)$.

Furthermore, since we derive some new relations between the numbers $W_n^{(k)}(\lambda)$, the polynomials $W_n^{(k)}(x; \lambda)$ and other well-known special numbers and polynomials, we recall them with their generating functions in the following manner:

The Apostol-Bernoulli polynomials $\mathcal{B}_n^{(k)}(x; \lambda)$ of higher order are defined by the following generating function:

$$(7) \quad F_B(t, x; \lambda; k) = \left(\frac{t}{\lambda e^t - 1} \right)^k e^{xt} = \sum_{n=0}^{\infty} \mathcal{B}_n^{(k)}(x; \lambda) \frac{t^n}{n!}$$

where $\lambda \in \mathbb{C}$ and $|t + \log \lambda| < 2\pi$, so that, in the special case when $x = 0$, these polynomials are reduced to the Apostol-Bernoulli numbers $\mathcal{B}_n^{(k)}(\lambda)$ of higher order with

$$\mathcal{B}_n^{(k)}(\lambda) = \mathcal{B}_n^{(k)}(0; \lambda)$$

(cf. [15]).

It should be note that

$$\mathcal{B}_n(x; \lambda) = \mathcal{B}_n^{(1)}(x; \lambda),$$

$$\mathcal{B}_n(\lambda) = \mathcal{B}_n^{(1)}(\lambda)$$

and

$$B_n = \mathcal{B}_n(1)$$

where $\mathcal{B}_n(x; \lambda)$, $\mathcal{B}_n(\lambda)$ and B_n denote the Apostol-Bernoulli polynomials, the Apostol-Bernoulli numbers and the classical Bernoulli numbers, respectively (cf. [1], [15], [17], [24], [27], [26]; and see also the references cited therein).

In [9], Kim *et al.* considered the modification of the Apostol-Bernoulli polynomials and gave the following generating function for the λ -Bernoulli polynomials $B_n(\lambda; x)$:

$$(8) \quad \frac{\log \lambda + t}{\lambda e^t - 1} e^{tx} = \sum_{n=0}^{\infty} B_n(\lambda; x) \frac{t^n}{n!},$$

so that,

$$B_n(\lambda) = B_n(\lambda; 0)$$

where $B_n(\lambda)$ denotes the λ -Bernoulli numbers and some values of these numbers are given as follows:

$$B_0(\lambda) = \frac{\log \lambda}{\lambda - 1}, \quad B_1(\lambda) = \frac{\lambda - 1 - \lambda \log \lambda}{(\lambda - 1)^2}, \dots$$

(cf. [9], [4], [21]; and see also the references cited therein).

In [9], Kim *et al.* derived a summation formula in connection with λ -Bernoulli numbers and polynomials as follows (cf. [9, p. 9]):

$$(9) \quad B_l(\lambda; x) - \lambda^{-k} B_l(\lambda) = \lambda^{-k} l \sum_{n=0}^{k-1} \lambda^n n^{l-1}.$$

The Apostol-Euler polynomials $\mathcal{E}_n^{(k)}(x; \lambda)$ of higher order are defined by means of the following generating function:

$$(10) \quad F_E(t, x; \lambda; k) = \left(\frac{2}{\lambda e^t + 1} \right)^k e^{xt} = \sum_{n=0}^{\infty} \mathcal{E}_n^{(k)}(x; \lambda) \frac{t^n}{n!}$$

where $\lambda \in \mathbb{C}$ and $|t + \log(\lambda)| < \pi$, so that, in the special case when $x = 0$, these polynomials are reduced to the Apostol-Euler numbers $\mathcal{E}_n^{(k)}(\lambda)$ of higher order with

$$\mathcal{E}_n^{(k)}(\lambda) = \mathcal{E}_n^{(k)}(0; \lambda)$$

(cf. [15], [12]; and the references cited therein).

It should be note that

$$\mathcal{E}_n(x; \lambda) = \mathcal{E}_n^{(1)}(x; \lambda),$$

$$\mathcal{E}_n(\lambda) = \mathcal{E}_n^{(1)}(\lambda)$$

and

$$E_n = \mathcal{E}_n(1)$$

where $\mathcal{E}_n(x; \lambda)$, $\mathcal{E}_n(\lambda)$ and E_n denote the Apostol-Euler polynomials, the Apostol-Euler numbers and the classical Euler numbers of the first kind, respectively (cf. [1], [12], [15], [17], [24], [26] [27]; and see also the references cited therein).

The Apostol-Genocchi polynomials $\mathcal{G}_n^{(k)}(x; \lambda)$ of higher order are defined by the following generating function:

$$(11) \quad F_G(t, x; \lambda; k) = \left(\frac{2t}{\lambda e^t + 1} \right)^k e^{xt} = \sum_{n=0}^{\infty} \mathcal{G}_n^{(k)}(x; \lambda) \frac{t^n}{n!}$$

where $\lambda \in \mathbb{C}$ and $|t| < |\log(-\lambda)|$, so that, in the special case when $x = 0$, these polynomials are reduced to the Apostol-Genocchi numbers $\mathcal{G}_n^{(k)}(\lambda)$ of higher order with

$$\mathcal{G}_n^{(k)}(\lambda) = \mathcal{G}_n^{(k)}(0; \lambda)$$

(cf. [16], [13], [14]; and see also the references cited therein).

It should be note that

$$\mathcal{G}_n(x; \lambda) = \mathcal{G}_n^{(1)}(x; \lambda),$$

$$\mathcal{G}_n(\lambda) = \mathcal{G}_n^{(1)}(\lambda),$$

and

$$G_n = \mathcal{G}_n(1)$$

where $\mathcal{G}_n(x; \lambda)$, $\mathcal{G}_n(\lambda)$ and G_n denote the Apostol-Genocchi polynomials, the Apostol-Genocchi numbers and the Genocchi numbers, respectively (cf. [16], [13], [14], [17], [26], [27]; and see also the references cited therein).

The Frobenius-Euler polynomials $\mathcal{H}_n^{(k)}(x|\lambda)$ of higher order are defined by means of the following generating function:

$$(12) \quad F_H(t, x; \lambda; k) = \left(\frac{1-\lambda}{e^t - \lambda} \right)^k e^{xt} = \sum_{n=0}^{\infty} \mathcal{H}_n^{(k)}(x|\lambda) \frac{t^n}{n!}$$

where $\lambda (\neq 1) \in \mathbb{C}$, so that, these polynomials are reduced to the Frobenius-Euler numbers $\mathcal{H}_n^{(k)}(\lambda)$ of higher order with

$$\mathcal{H}_n^{(k)}(\lambda) = \mathcal{H}_n^{(k)}(0|\lambda)$$

and a relation between these numbers and polynomials is given by

$$(13) \quad \mathcal{H}_n^{(k)}(x|\lambda) = \sum_{m=0}^n \binom{n}{m} x^{n-m} \mathcal{H}_m^{(k)}(\lambda)$$

(cf. [5], [6], [7], [8], [9], [19] [20]; and see also the references cited therein).

The λ -array polynomials $S_k^n(x; \lambda)$ are given by the following generating function:

$$(14) \quad F_A(t, x, k; \lambda) = \frac{(\lambda e^t - 1)^k}{k!} e^{xt} = \sum_{n=0}^{\infty} S_k^n(x; \lambda) \frac{t^n}{n!}$$

where $k \in \mathbb{N}_0$ and $\lambda \in \mathbb{C}$ (cf. [2], [20]) which, for $\lambda = 1$, yields the classical array polynomials $S_k^n(x)$, which are defined by the following explicit formula:

$$(15) \quad S_k^n(x) = \frac{1}{k!} \sum_{j=0}^k (-1)^{k-j} \binom{k}{j} (x+j)^n$$

with $S_0^0(x) = S_n^0(x) = 1$, $S_n^n(x) = x^n$ and $S_0^0(x) = 0$ when $k > n$. Moreover, for $x = 0$, the λ -array polynomials $S_k^n(x; \lambda)$ reduce to the λ -Stirling numbers, that is:

$$(16) \quad S(n, k; \lambda) = S_k^n(0; \lambda),$$

(cf. [2], [20], [16], [25]). In the special case of $\lambda = 1$, the λ -Stirling numbers reduce to the Stirling numbers of the second kind, that is

$$S_2(n, k) = S(n, k; 1)$$

which are defined by

$$(17) \quad x^n = \sum_{k=0}^n S_2(n, k)(x)_k,$$

where

$$(x)_n = x(x-1)(x-2)\dots(x-n+1),$$

with $(x)_0 = 1$ (cf. [3], [26]; see also the references cited therein).

We give detailed summary covering results of this paper as follows:

In Section 2, by differentiating the generating functions for the numbers $W_n^{(k)}(\lambda)$ and the polynomials $W_n^{(k)}(x; \lambda)$ with respect to their parameters, we present partial differential equations including these functions. By making use of these equations, we provide some new formulas, relations and identities including these numbers and polynomials and their derivatives.

In Section 3, by using a collection of the generating functions for the Apostol-type numbers and polynomials of higher order and their functional equations, we investigate the numbers $W_n^{(k)}(\lambda)$ and the polynomials $W_n^{(k)}(x; \lambda)$ and their relationships with other well-known special numbers and polynomials including the Apostol-Bernoulli numbers and polynomials of higher order, the Apostol-Euler numbers and polynomials of higher order, the Frobenius-Euler numbers and polynomials of higher order, the λ -array polynomials, the λ -Stirling numbers, and the λ -Bernoulli numbers and polynomials.

2. IDENTITIES RELATED TO THE DERIVATIVE FORMULAS FOR THE FUNCTIONS $F_w(t; \lambda; k)$ AND THE FUNCTIONS $G_w(t, x, k; \lambda)$

In this section, we provide partial differential equations including the generating functions for the numbers $W_n^{(k)}(\lambda)$ and the polynomials $W_n^{(k)}(x; \lambda)$.

With the help of these equations, we give some formulas, relations and identities including these numbers and polynomials and their derivatives.

Differentiating both sides of (1) and (2) with respect to t yields respectively the following partial differential equations:

$$(18) \quad \frac{\partial}{\partial t} \{F_w(t; \lambda; k)\} = -k (\lambda e^t - \lambda^{-1} e^{-t}) F_w(t; \lambda; k+1),$$

and

$$(19) \quad \frac{\partial}{\partial t} \{G_w(t, x; \lambda; k)\} = x G_w(t, x; \lambda; k) - k (\lambda e^t - \lambda^{-1} e^{-t}) G_w(t, x; \lambda; k+1).$$

Combining (2) and (19) yields

$$\begin{aligned} \sum_{n=0}^{\infty} W_{n+1}^{(k)}(x; \lambda) \frac{t^n}{n!} &= x \sum_{n=0}^{\infty} W_n^{(k)}(x; \lambda) \frac{t^n}{n!} - k \left(\sum_{n=0}^{\infty} (\lambda - \lambda^{-1} (-1)^n) \frac{t^n}{n!} \right) \\ &\quad \times \sum_{n=0}^{\infty} W_n^{(k+1)}(x; \lambda) \frac{t^n}{n!}. \end{aligned}$$

Making use of the Cauchy product rule in the above equation and comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the above equation yields the following theorem:

Theorem 2.1.

$$W_{n+1}^{(k)}(x; \lambda) = x W_n^{(k)}(x; \lambda) - k \sum_{m=0}^n \binom{n}{m} (\lambda - \lambda^{-1} (-1)^{n-m}) W_m^{(k+1)}(x; \lambda).$$

Combining the special case of Theorem 2.1 when $x = 0$ with (4) yields the following corollary:

Corollary 2.2.

$$W_{n+1}^{(k)}(\lambda) = k \sum_{m=0}^n \binom{n}{m} (\lambda^{-1} (-1)^{n-m} - \lambda) W_m^{(k+1)}(\lambda).$$

By differentiating both sides of (1) with respect to t , we get also another version of (18) as follows:

$$\frac{\partial}{\partial t} \{F_w(t; \lambda; k)\} = k F_w(t; \lambda; k) - 2k (\lambda e^t + 1) F_w(t; \lambda; k+1).$$

From the above equation, we have

$$\sum_{n=0}^{\infty} W_{n+1}^{(k)}(\lambda) \frac{t^n}{n!} = k \sum_{n=0}^{\infty} W_n^{(k)}(\lambda) \frac{t^n}{n!} - 2k \lambda \sum_{n=0}^{\infty} \frac{t^n}{n!} \sum_{n=0}^{\infty} W_n^{(k+1)}(\lambda) \frac{t^n}{n!} - 2k \sum_{n=0}^{\infty} W_n^{(k+1)}(\lambda) \frac{t^n}{n!}.$$

Thus, by using the Cauchy product rule in the above equation, we get

$$\sum_{n=0}^{\infty} W_{n+1}^{(k)}(\lambda) \frac{t^n}{n!} = k \sum_{n=0}^{\infty} \left(W_n^{(k)}(\lambda) - 2\lambda \sum_{m=0}^n \binom{n}{m} W_m^{(k+1)}(\lambda) - 2W_n^{(k+1)}(\lambda) \right) \frac{t^n}{n!}.$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the above equation yields the following theorem:

Theorem 2.3.

$$W_{n+1}^{(k)}(\lambda) = k \left(W_n^{(k)}(\lambda) - 2\lambda \sum_{m=0}^n \binom{n}{m} W_m^{(k+1)}(\lambda) - 2W_n^{(k+1)}(\lambda) \right)$$

or, equivalently,

$$W_{n+1}^{(k)}(\lambda) = kW_n^{(k)}(\lambda) - 2\lambda W_n^{(k+1)}(1; \lambda) - 2W_n^{(k+1)}(\lambda).$$

Differentiating both sides of Eq. (2) with respect to λ yields the following partial differential equation:

$$(20) \quad \frac{\partial}{\partial \lambda} \{G_w(t, x; \lambda; k)\} = -k(e^t - \lambda^{-2}e^{-t})G_w(t, x; \lambda; k + 1).$$

From (20), we have

$$\frac{\partial}{\partial \lambda} \sum_{n=0}^{\infty} W_n^{(k)}(x; \lambda) \frac{t^n}{n!} = k \left(\sum_{n=0}^{\infty} (\lambda^{-2}(-1)^n - 1) \frac{t^n}{n!} \right) \sum_{n=0}^{\infty} W_n^{(k+1)}(x; \lambda) \frac{t^n}{n!}.$$

By making use of the Cauchy product rule in the above equation, we get

$$\sum_{n=0}^{\infty} \frac{\partial}{\partial \lambda} W_n^{(k)}(x; \lambda) \frac{t^n}{n!} = k \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} (\lambda^{-2}(-1)^{n-m} - 1) W_m^{(k+1)}(x; \lambda) \right) \frac{t^n}{n!}.$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the above equation yields the following theorem:

Theorem 2.4.

$$\frac{\partial}{\partial \lambda} W_n^{(k)}(x; \lambda) = k \sum_{m=0}^n \binom{n}{m} (\lambda^{-2}(-1)^{n-m} - 1) W_m^{(k+1)}(x; \lambda).$$

Combining the special case of Theorem 2.4 when $x = 0$ with (4) yields the following corollary:

Corollary 2.5.

$$\frac{d}{d\lambda} W_n^{(k)}(\lambda) = k \sum_{m=0}^n \binom{n}{m} (\lambda^{-2}(-1)^{n-m} - 1) W_m^{(k+1)}(\lambda).$$

Differentiating both sides of Eq. (2) with respect to x yields the following partial differential equation:

$$\frac{\partial}{\partial x} \{G_w(t, x; \lambda; k)\} = tG_w(t, x; \lambda; k).$$

From the above equation, we have

$$\frac{\partial}{\partial x} \sum_{n=0}^{\infty} W_n^{(k)}(x; \lambda) \frac{t^n}{n!} = t \sum_{n=0}^{\infty} W_n^{(k)}(x; \lambda) \frac{t^n}{n!}.$$

Thus, we get

$$\sum_{n=0}^{\infty} \frac{\partial}{\partial x} W_n^{(k)}(x; \lambda) \frac{t^n}{n!} = \sum_{n=0}^{\infty} nW_{n-1}^{(k)}(x; \lambda) \frac{t^n}{n!}.$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the above equation yields the following theorem:

Theorem 2.6.

$$\frac{\partial}{\partial x} W_n^{(k)}(x; \lambda) = n W_{n-1}^{(k)}(x; \lambda).$$

Remark 2. According to Roman [18, Theorem 2.5.8, p. 27], a Appell sequence $s_n(x)$ satisfy the following Appell identity:

$$s_n(x+y) = \sum_{m=0}^n \binom{n}{m} s_m(x) y^{n-m}.$$

Hence, by (2.6), one can infer that the polynomials $W_n^{(k)}(x; \lambda)$ are Appell sequences and it is clear that the following identity holds for the polynomials $W_n^{(k)}(x; \lambda)$:

$$(21) \quad W_n^{(k)}(x+y; \lambda) = \sum_{m=0}^n \binom{n}{m} W_m^{(k)}(x) y^{n-m}.$$

Substituting $y = 1$ into (21) yields

$$(22) \quad W_n^{(k)}(x+1; \lambda) = \sum_{m=0}^n \binom{n}{m} W_m^{(k)}(x).$$

Substituting $y = -1$ into (21) also yields

$$(23) \quad W_n^{(k)}(x-1; \lambda) = \sum_{m=0}^n (-1)^{n-m} \binom{n}{m} W_m^{(k)}(x).$$

By subtracting (23) from (22), we get the following theorem:

Theorem 2.7.

$$(24) \quad W_n^{(k)}(x+1; \lambda) - W_n^{(k)}(x-1; \lambda) = \sum_{m=0}^n (1 - (-1)^{n-m}) \binom{n}{m} W_m^{(k)}(x).$$

From (24), we get the following corollary:

Corollary 2.8.

$$(25) \quad \frac{W_n^{(k)}(x+1; \lambda) - W_n^{(k)}(x-1; \lambda)}{2} = \sum_{\substack{m=0 \\ n-m \text{ odd}}}^n \binom{n}{m} W_m^{(k)}(x).$$

3. RELATIONS BETWEEN THE NUMBERS $W_n^{(k)}(\lambda)$, THE POLYNOMIALS $W_n^{(k)}(x; \lambda)$ AND OTHER WELL-KNOWN SPECIAL NUMBERS AND POLYNOMIALS

In this section, by using a collection of the generating functions for the Apostol-type numbers and polynomials of higher order and their functional equations, we investigate the numbers $W_n^{(k)}(\lambda)$ and the polynomials $W_n^{(k)}(x; \lambda)$ and their relationships with other well-known special numbers and polynomials including the Apostol-Bernoulli numbers and polynomials of higher order, the Apostol-Euler numbers and polynomials of higher order, the Frobenius-Euler numbers and polynomials of higher order, the λ -array polynomials, the λ -Stirling numbers, and the λ -Bernoulli numbers and polynomials.

3.1. Relationships of the numbers $W_n^{(k)}(\lambda)$ and the polynomials $W_n^{(k)}(x; \lambda)$ with the Apostol-Bernoulli numbers and polynomials of higher order. Here, by using functional equations of the generating functions for the Apostol-Bernoulli numbers and polynomials of higher order, the numbers $W_n^{(k)}(\lambda)$ and the polynomials $W_n^{(k)}(x; \lambda)$, we derive relationship between these numbers and polynomials.

By combining (2) with (7), we get the following functional equation:

$$(26) \quad t^{-2k} F_B(t, x; \lambda; 2k) = (-1)^k \lambda^{-k} G_w(t, x - k, k; -\lambda).$$

It follows from the above functional equation that

$$\sum_{n=0}^{\infty} \frac{1}{(n + 2k)_{2k}} \mathcal{B}_{n+2k}^{(2k)}(x; \lambda) \frac{t^n}{n!} = (-1)^k \lambda^{-k} \sum_{n=0}^{\infty} W_n^{(k)}(x - k; -\lambda) \frac{t^n}{n!}.$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the above equation yields a relation between the polynomials $W_n^{(k)}(x; \lambda)$ and the Apostol-Bernoulli polynomials of higher order by the following theorem:

Theorem 3.1.

$$(27) \quad \mathcal{B}_{n+2k}^{(2k)}(x; \lambda) = \frac{(-1)^k (n + 2k)_{2k}}{\lambda^k} W_n^{(k)}(x - k; -\lambda).$$

Combining (3) with (27) yields a relation between the numbers $W_n^{(k)}(\lambda)$ and the Apostol-Bernoulli polynomials of higher order by the following corollary:

Corollary 3.2.

$$(28) \quad \mathcal{B}_{n+2k}^{(2k)}(x; \lambda) = \frac{(-1)^k (n + 2k)_{2k}}{\lambda^k} \sum_{m=0}^n \binom{n}{m} (x - k)^{n-m} W_m^{(k)}(-\lambda).$$

Substituting $k = 1$ into (27) yields the following corollary:

Corollary 3.3.

$$(29) \quad \mathcal{B}_{n+2}^{(2)}(x; \lambda) = -\frac{(n + 2)(n + 1)}{\lambda} W_n(x - 1; -\lambda).$$

Replacing x by k and λ by $-\lambda$ in (27) and using (4) yields the following corollary:

Corollary 3.4.

$$(30) \quad \mathcal{B}_{n+2}^{(2k)}(k; -\lambda) = \frac{(n + 2k)_{2k}}{\lambda^k} W_n^{(k)}(\lambda).$$

Remark 3. When $k = 1$, the equation (30) is reduced to the following relation:

$$\mathcal{B}_{n+2}^{(2)}(1; -\lambda) = \frac{(n + 2)(n + 1)}{\lambda} W_n(\lambda)$$

which was given by the second author (cf. [23]).

3.2. Relationships of the numbers $W_n^{(k)}(\lambda)$ and the polynomials $W_n^{(k)}(x; \lambda)$ with the Apostol-Euler numbers and polynomials of higher order. Here, by using functional equations of the generating functions for the Apostol-Euler numbers and polynomials of higher order, the numbers $W_n^{(k)}(\lambda)$ and the polynomials $W_n^{(k)}(x; \lambda)$, we derive relationship between these numbers and polynomials.

By combining (2) with (10), we get the following functional equation:

$$2^{-2k} F_{\mathcal{E}}(t, x; \lambda; 2k) = \lambda^{-k} G_w(t; x - k, k; \lambda).$$

It follows from the above functional equation that

$$2^{-2k} \sum_{n=0}^{\infty} \mathcal{E}_n^{(2k)}(x; \lambda) \frac{t^n}{n!} = \lambda^{-k} \sum_{n=0}^{\infty} W_n^{(k)}(x - k; \lambda) \frac{t^n}{n!}.$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the above equation yields a relation between the polynomials $W_n^{(k)}(x; \lambda)$ and the Apostol-Euler polynomials of higher order by the following theorem:

Theorem 3.5.

$$(31) \quad \mathcal{E}_n^{(2k)}(x; \lambda) = \left(\frac{4}{\lambda}\right)^k W_n^{(k)}(x - k; \lambda).$$

Combining (3) with (31) yields a relation between the numbers $W_n^{(k)}(\lambda)$ and the Apostol-Euler polynomials of higher order by the following corollary:

Corollary 3.6.

$$(32) \quad \mathcal{E}_n^{(2k)}(x; \lambda) = \left(\frac{4}{\lambda}\right)^k \sum_{m=0}^n \binom{n}{m} (x - k)^{n-m} W_m^{(k)}(\lambda).$$

Substituting $k = 1$ into (31) yields the following corollary:

Corollary 3.7.

$$(33) \quad \mathcal{E}_n^{(2)}(x; \lambda) = \frac{4}{\lambda} W_n(x - 1; \lambda).$$

Replacing x by k in (31) and using (4) yields the following corollary:

Corollary 3.8.

$$(34) \quad \mathcal{E}_n^{(2k)}(k; \lambda) = \left(\frac{4}{\lambda}\right)^k W_n^{(k)}(\lambda).$$

Remark 4. When $k = 1$, the equation (34) is reduced to the following relation:

$$\mathcal{E}_n^{(2)}(1; \lambda) = \frac{4}{\lambda} W_n(\lambda)$$

which was given by the second author (cf. [22, p. 2358]).

3.3. Relationships of the numbers $W_n^{(k)}(\lambda)$ and the polynomials $W_n^{(k)}(x; \lambda)$ with the Apostol-Genocchi numbers and polynomials of higher order. Here, by using functional equations of the generating functions for the Apostol-Genocchi numbers and polynomials of higher order, the numbers $W_n^{(k)}(\lambda)$ and the polynomials $W_n^{(k)}(x; \lambda)$, we derive relationship between these numbers and polynomials.

By combining (2) with (11), we get the following functional equation:

$$t^{-2k} F_G(t, x; \lambda; 2k) = \left(\frac{4}{\lambda}\right)^k G_w(t, x - k, k; \lambda).$$

It follows from the above functional equation that

$$\sum_{n=0}^{\infty} \frac{1}{(n + 2k)_{2k}} \mathcal{G}_n^{(2k)}(x; \lambda) \frac{t^n}{n!} = \left(\frac{4}{\lambda}\right)^k \sum_{n=0}^{\infty} W_n^{(k)}(x - k; \lambda) \frac{t^n}{n!}.$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the above equation yields a following relation between the polynomials $W_n^{(k)}(x; \lambda)$ and the Apostol-Genocchi polynomials of higher order by the following theorem:

Theorem 3.9.

$$(35) \quad \mathcal{G}_{n+2k}^{(2k)}(x; \lambda) = (n + 2k)_{2k} \left(\frac{4}{\lambda}\right)^k W_n^{(k)}(x - k; \lambda).$$

Combining (3) with (35) yields a relation between the numbers $W_n^{(k)}(\lambda)$ and the Apostol-Genocchi polynomials of higher order by the following corollary:

Corollary 3.10.

$$(36) \quad \mathcal{G}_{n+2k}^{(2k)}(x; \lambda) = (n + 2k)_{2k} \left(\frac{4}{\lambda}\right)^k \sum_{m=0}^n \binom{n}{m} (x - k)^{n-m} W_m^{(k)}(\lambda).$$

Substituting $k = 1$ into (35) yields the following corollary:

Corollary 3.11.

$$(37) \quad \mathcal{G}_{n+2}^{(2)}(x; \lambda) = \frac{4(n + 2)(n + 1)}{\lambda} W_n(x - 1; \lambda)$$

Replacing x by k in (35) and using (4) yields the following corollary:

Corollary 3.12.

$$(38) \quad \mathcal{G}_{n+2k}^{(2k)}(k; \lambda) = (n + 2k)_{2k} \left(\frac{4}{\lambda}\right)^k W_n^{(k)}(\lambda).$$

Remark 5. When $k = 1$, the equation (38) is reduced to the following relation:

$$\mathcal{G}_{n+2}^{(2)}(1; \lambda) = \frac{4(n + 2)(n + 1)}{\lambda} W_n(\lambda)$$

which was given by the second author (cf. [23]).

3.4. Relationships of the numbers $W_n^{(k)}(\lambda)$ and the polynomials $W_n^{(k)}(x; \lambda)$ with the Frobenius-Euler numbers and polynomials of higher order. Here, by using functional equations of the generating functions for Frobenius-Euler numbers and polynomials of higher order, the numbers $W_n^{(k)}(\lambda)$ and the polynomials $W_n^{(k)}(x; \lambda)$, we derive relationship between these numbers and polynomials.

By combining (2) with (12), we get the following functional equation:

$$F_H(t; x; \lambda^{-1}; 2k) = \frac{(-1)^k (\lambda - 1)^{2k}}{\lambda^k} G_w(t, x - k; k; -\lambda).$$

It follows from the above functional equation that

$$\sum_{n=0}^{\infty} \mathcal{H}_n^{(2k)}(x|\lambda^{-1}) \frac{t^n}{n!} = \frac{(-1)^k (\lambda - 1)^{2k}}{\lambda^k} \sum_{n=0}^{\infty} W_n^{(k)}(x - k; -\lambda) \frac{t^n}{n!}.$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the above equation yields a relation between the polynomials $W_n^{(k)}(x; \lambda)$ and the Frobenius-Euler polynomials of higher order by the following theorem:

Theorem 3.13.

$$(39) \quad \mathcal{H}_n^{(2k)}(x|\lambda^{-1}) = \frac{(-1)^k (\lambda - 1)^{2k}}{\lambda^k} W_n^{(k)}(x - k; -\lambda).$$

Combining (3) with (39) yields a relation between the numbers $W_n^{(k)}(\lambda)$ and the Frobenius-Euler polynomials of higher order by the following corollary:

Corollary 3.14.

$$(40) \quad \mathcal{H}_n^{(2k)}(x|\lambda^{-1}) = \frac{(-1)^k (\lambda - 1)^{2k}}{\lambda^k} \sum_{m=0}^n \binom{n}{m} (x - k)^{n-m} W_m^{(k)}(-\lambda).$$

Substituting $k = 1$ into (39) yields the following corollary:

Corollary 3.15.

$$(41) \quad \mathcal{H}_n^{(2)}(x|\lambda^{-1}) = -\frac{(\lambda - 1)^2}{\lambda} W_n(x - 1; -\lambda).$$

Replacing x by k in (39) and using (4) yields the following corollary:

Corollary 3.16.

$$(42) \quad \mathcal{H}_n^{(2k)}(k|\lambda^{-1}) = \frac{(-1)^k (\lambda - 1)^{2k}}{\lambda^k} W_n^{(k)}(-\lambda).$$

When $k = 1$, the equation (42) is reduced to the following relation:

Corollary 3.17.

$$(43) \quad \mathcal{H}_n^{(2)}(1|\lambda^{-1}) = -\frac{(\lambda - 1)^2}{\lambda} W_n(-\lambda).$$

3.5. Relationships of the numbers $W_n^{(k)}(\lambda)$ and the polynomials $W_n^{(k)}(x; \lambda)$ with the λ -array polynomials, the λ -Stirling numbers, and λ -Bernoulli numbers and polynomials. Here, by using functional equations of the generating functions for λ -array polynomials and the polynomials $W_n^{(k)}(x; \lambda)$, we derive relationships between the numbers $W_n^{(k)}(\lambda)$, the polynomials $W_n^{(k)}(x; \lambda)$, λ -array polynomials, the λ -Stirling numbers, and the λ -Bernoulli numbers and polynomials.

By combining (2) with (14), we get the following functional equation:

$$F_A(t, -x, 2k; \lambda) G_w(t, x, k; -\lambda) = \frac{(-1)^k \lambda^k e^{kt}}{(2k)!}.$$

It follows from the above functional equation that

$$\sum_{n=0}^{\infty} S_{2k}^n(-x; \lambda) \frac{t^n}{n!} \sum_{n=0}^{\infty} W_n^{(k)}(x; -\lambda) \frac{t^n}{n!} = \frac{(-1)^k \lambda^k}{(2k)!} \sum_{n=0}^{\infty} k^n \frac{t^n}{n!}.$$

By making use of the Cauchy product rule in the above equation, we get

$$\sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} S_{2k}^m(-x; \lambda) W_{n-m}^{(k)}(x; -\lambda) \right) \frac{t^n}{n!} = \frac{(-1)^k \lambda^k}{(2k)!} \sum_{n=0}^{\infty} k^n \frac{t^n}{n!}.$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the above equation yields the following theorem:

Theorem 3.18.

$$(44) \quad \sum_{m=0}^n \binom{n}{m} S_{2k}^m(-x; \lambda) W_{n-m}^{(k)}(x; -\lambda) = \frac{(-1)^k \lambda^k k^n}{(2k)!}.$$

By (16), substituting $x = 0$ into (44) yields a relation between the λ -Stirling numbers and the numbers $W_n^{(k)}(\lambda)$ by the following corollary:

Corollary 3.19.

$$(45) \quad \sum_{m=0}^n \binom{n}{m} S(m, 2k; \lambda) W_{n-m}^{(k)}(-\lambda) = \frac{(-1)^k \lambda^k k^n}{(2k)!}.$$

From (44), we have

$$(-1)^k (2k)! \sum_{m=0}^n \binom{n}{m} S_{2k}^m(-x; \lambda) W_{n-m}^{(k)}(x; -\lambda) = \lambda^k k^n.$$

Summing the above equation over all $0 \leq k \leq v$ yields the following combinatorial sums:

$$\sum_{k=0}^v (-1)^k (2k)! \sum_{m=0}^n \binom{n}{m} S_{2k}^m(-x; \lambda) W_{n-m}^{(k)}(x; -\lambda) = \sum_{k=0}^v \lambda^k k^n.$$

Therefore, by combining the above equation with (9), we get the following theorem:

Theorem 3.20.

$$\sum_{k=0}^v \sum_{m=0}^n (-1)^k (2k)! \binom{n}{m} S_{2k}^m(-x; \lambda) W_{n-m}^{(k)}(x; -\lambda) = \frac{\lambda^{v+1} B_{n+1}(\lambda; v+1) - B_{n+1}(\lambda)}{n+1}.$$

On the other hand, combining (2) with (14) yields also the following functional equation:

$$F_A(t, x, 2k; \lambda) G_w(t, x, k; -\lambda) = \frac{(-1)^k \lambda^k e^{(2x+k)t}}{(2k)!}.$$

By using the above functional equation, we have

$$\sum_{n=0}^{\infty} S_{2k}^m(x; \lambda) \frac{t^n}{n!} \sum_{n=0}^{\infty} W_n^{(k)}(x; -\lambda) \frac{t^n}{n!} = \frac{(-1)^k \lambda^k}{(2k)!} \sum_{n=0}^{\infty} (2x+k)^n \frac{t^n}{n!}.$$

By using the Cauchy product rule in the above equation, we have

$$\sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} S_{2k}^m(x; \lambda) W_{n-m}^{(k)}(x; -\lambda) \right) \frac{t^n}{n!} = \frac{(-1)^k \lambda^k}{(2k)!} \sum_{n=0}^{\infty} (2x+k)^n \frac{t^n}{n!}.$$

Thus, comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the above equation yields the following theorem:

Theorem 3.21.

$$\sum_{m=0}^n \binom{n}{m} S_{2k}^m(x; \lambda) W_{n-m}^{(k)}(x; -\lambda) = \frac{(-1)^k \lambda^k}{(2k)!} (2x+k)^n.$$

Substituting $\lambda = 1$ into the above theorem, we get

$$\sum_{m=0}^n \binom{n}{m} S_{2k}^m(x) W_{n-m}^{(k)}(x; -1) = \frac{(-1)^k}{(2k)!} (2x+k)^n.$$

Combining the above equation with (15), we arrive at the following corollary:

Corollary 3.22.

$$\sum_{m=0}^n \sum_{j=0}^{2k} (-1)^j \binom{n}{m} \binom{2k}{j} (x+j)^m W_{n-m}^{(k)}(x; -1) = (-1)^k (2x+k)^n.$$

REFERENCES

- [1] T. M. Apostol, *On the Lerch zeta function*, Pacific J. Math. 1 (1951), 161–167.
- [2] A. Bayad, Y. Simsek and H. M. Srivastava, *Some array type polynomials associated with special numbers and polynomials*, Appl. Math. Compute. 244 (2014), 149–157.
- [3] L. Comtet, *Advanced Combinatorics: The Art of Finite and Infinite Expansions*, Reidel, Dordrecht and Boston, 1974.
- [4] L. C. Jang and H. K. Pak, *Non-Archimedean integration associated with q -Bernoulli numbers*, Proc. Jangjeon Math. Soc. 5(2) (2002), 125–129.
- [5] D. S. Kim, T. Kim, S.-H. Lee and S.-H. Rim, *A note on the higher-order Frobenius-Euler polynomials and Sheffer sequences*, Adv. Differ. Equ (2013), 2013:41.
- [6] D. S. Kim, T. Kim and J. Seo, *Higher-order Bernoulli, Frobenius-Euler and Euler polynomials*, J. Comput. Anal. Appl. 17(1) (2014), 147–155.
- [7] T. Kim, *Identities involving Frobenius-Euler polynomials arising from non-linear differential equation*, J. Number Theory 132 (2012), 2854–2865.
- [8] T. Kim and J. Choi, *A note on the product of Frobenius-Euler polynomials arising from the p -adic integral on \mathbb{Z}_p* , Adv. Stud. Contemp. Math. 22(2) (2012), 215–223.
- [9] T. Kim, S.-H. Rim, Y. Simsek and D. Kim, *On the analogs of Bernoulli and Euler numbers, related identities and zeta and l -functions*, J. Korean Math. Soc. 45(2) (2008), 435–453.

- [10] I. Kucukoglu, Y. Simsek and H. M. Srivastava, *A new family of Lerch-type zeta functions interpolating a certain class of higher-order Apostol-type numbers and Apostol-type polynomials*, Quaest. Math. (2018), <https://doi.org/10.2989/16073606.2018.1459925>.
- [11] I. Kucukoglu and Y. Simsek, Numerical evaluations of the special power series including numbers of Lyndon words: an approach to interpolation functions for Apostol-type numbers and polynomials, preprint.
- [12] Q.-M. Luo, *Apostol-Euler polynomials of higher order and Gaussian hypergeometric functions*, Taiwan. J. Math. 10 (2006), 917–925.
- [13] Q.-M. Luo, *Fourier expansions and integral representations for the Genocchi polynomials*, J. Integer Seq. 12 (2009), Article 09.1.4., 1–9.
- [14] Q.-M. Luo, *Extension for the Genocchi polynomials and its Fourier expansions and integral representations*, Osaka J. Math. 48 (2) (2011), 291–309.
- [15] Q.-M. Luo and H. M. Srivastava, *Some generalizations of the Apostol-Bernoulli and Apostol-Euler polynomials*, J. Math. Anal. Appl. 308 (2005), 290–302.
- [16] Q.-M. Luo and H. M. Srivastava, *Some generalizations of the Apostol-Genocchi polynomials and the Stirling numbers of the second kind*, Appl. Math. Comput. 217 (2011), 5702–5728.
- [17] H. Ozden, Y. Simsek and H. M. Srivastava, *A unified presentation of the generating functions of the generalized Bernoulli, Euler and Genocchi polynomials*, Comput. Math. Appl. 60 (2010), 2779–2787.
- [18] S. Roman, *The Umbral Calculus*, Academic Press, New York, 1984.
- [19] C. S. Ryoo, *A note on the Frobenius-Euler polynomials*, Proc. Jangjeon Math. Soc. 14(4) (2011), 495–501.
- [20] Y. Simsek, *Generating functions for generalized Stirling type numbers, Array type polynomials, Eulerian type polynomials and their applications*, Fixed Point Theory A. (2013), 2013:87.
- [21] Y. Simsek, *Analysis of the p -adic q -Volkenborn integrals: An approach to generalized Apostol-type special numbers and polynomials and their applications*, Cogent Math. 3:1269393 (2016), 1–17.
- [22] Y. Simsek, *Computation methods for combinatorial sums and Euler type numbers related to new families of numbers*, Math. Method. Appl. Sci. 40 (2017), 2347–2361.
- [23] Y. Simsek, *Interpolation function for the families of numbers related to the Apostol-type numbers*, AIP Conf. Proc. 1978(040012) (2018), 1–4, doi:10.1063/1.5043696.
- [24] H. M. Srivastava, *Some formulas for the Bernoulli and Euler polynomials at rational arguments*, Math. Proc. Cambridge Philos. Soc. 129 (2000), 77–84.
- [25] H. M. Srivastava, *Some generalizations and basic (or q -)extensions of the Bernoulli, Euler and Genocchi polynomials*, Appl. Math. Inf. Sci. 5 (2011), 390–444.
- [26] H. M. Srivastava and J. Choi, *Zeta and q -Zeta Functions and Associated Series and Integrals*, Elsevier Science Publishers, Amsterdam, London and New York, 2012.
- [27] H. M. Srivastava, H. Ozden, I. N. Cangul and Y. Simsek, *A unified presentation of certain meromorphic functions related to the families of the partial zeta type functions and the L -functions*, Appl. Math. Comput. 219 (2012), 3903–3913.

DEPARTMENT OF ENGINEERING FUNDAMENTAL SCIENCES, FACULTY OF ENGINEERING,
ALANYA ALAADDIN KEYKUBAT UNIVERSITY TR-07425 ANTALYA, TURKEY.

E-mail address: irem.kucukoglu@alanya.edu.tr

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE UNIVERSITY OF AKDENIZ TR-
07058 ANTALYA, TURKEY.

E-mail address: ysimsek@akdeniz.edu.tr